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Direction (1 - 5): Study the
information given below and answer the
questions based on it.

TRI CAN FIT DOG LAW

1. If in each word, the first and third letter
is interchanged within the word then how
many words will be meaningful?

Al

B. 2
C.3

D. 4

E. None

2. If in each word, F is added at the
starting of the word then how many
meaningful word fill formed?

A 2 B.1

C.3 D. None

E. None of these

3. If all the words are arranged in
alphabetic order from left to right, then
which word is second from the right end?

A. FIT B. TRI
C. DOG D. LAW
E. CAN

4. How many letters are there in the
alphabetic series between the third letter
of third word from the left end and the
third letter of first word from the right?

A. 2 B. 4
C.5 D. 6
E. None

5. If in each word, the first letter is
changed to its previous letter according
to the alphabet series and the last word
is changed to the next word in the
alphabet series then how many
word/words have more than one vowel?

A 2 B. 3

C.1 D. None

E. None of these

6. If all the numbers given below are
arranged in the descending order from
left to right then how many numbers will
be at the same positions?
743251986

A 2 B. 4
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C.3 D.1
E. None

7. How many such pairs of letters are
there in the word PLANTED which has as
many letters between them in the word
as in the English alphabetical series in
both forward and backward direction?

A 2 B. 3

C.4 D. None

E. None of these

Direction (8 - 12) : In each of the
questions below are given few statements
followed by two conclusions numbered I
and II. You have to take the given
statements to be true even if they seem
to be at variance with commonly known
facts. Read all the conclusions and then
decide which of the given conclusions
logically follows from the given
statements, disregarding commonly
known facts.

8. Statements:

Only a few dots are eggs
All pictures are eggs
Conclusions:

Atleast some picture are dots
No dots are pictures

A. Only I follows.

B. Only II follows.

C. Either I or II follows.

D. Neither I nor II follows.
E. Both I and II follows.

9. Statements:

No bat is feather

Only a few swords are Bat
Only a few husks are swords
Conclusions:

Atleast some bat are husks
Some swords are feather
A. Only I follows.

B. Only II follows.

C. Either I or II follows.

D. Neither I nor II follows.
E. Both I and II follows.

10. Statements:

Only a few palms are cat
No site is palms

All arrow is palms
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Conclusions:

Some site are cat

No site are cat

A. Only I follows.

B. Only II follows.

C. Either I or II follows.

D. Neither I nor II follows.
E. Both I and II follows.

11. Statements:

Only a few palms are cat
No site is palms

All arrow is palms
Conclusions:

No site is arrow

All cat can never be arrow
A. Only I follows.

B. Only II follows.

C. Either I or II follows.
D. Neither I nor II follows.
E. Both I and II follows.

12. Statements:

All magic are trust

All fare are magic

All cases are fare
Conclusions:

Atleast some trust are fare
All cases are magic

A. Only I follows.

B. Only II follows.

C. Either I or II follows.

D. Neither I nor II follows.
E. Both I and II follows.

13.Find the odd one out?

A. GKH B. QNR
C. OsP D. AEB
E. TXU

14. How many four letter meaningful
words can be formed using 3rd, 4th, 6th
and 7th letters of word DESTINED?

A. 1l B. 3
C.2 D. 4
E. None

Direction: Read the sentence to find out
whether there is an error in it. The error,
if any, will be in one part of the sentence.
The number corresponding to that part
will be your answer. If the given sentence
is correct as it is, mark the answer as ‘No
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error’. Ignore the errors of punctuation, if
any.

15. The strong kind buffalo (1)/ was the
leader of animals (2)/ so they runs to him
(3)/ and told him everything. (4)

A. 1l B. 2
C.3 D. 4
E. No Error

Direction: Read the sentence to find out
whether there is an error in it. The error,
if any, will be in one part of the sentence.
The number corresponding to that part
will be your answer. If the given sentence
is correct as it is, mark the answer as ‘No
error’. Ignore the errors of punctuation, if
any.

16. The crows would (1)/ only look for
food (2)/ while the sparrows would look
for (3)/ a placed to make their nests. (4)

A. 1 B. 2
C.3 D. 4
E. No Error

Direction: Read the sentence to find out
whether there is an error in it. The error,
if any, will be in one part of the sentence.
The number corresponding to that part
will be your answer. If the given sentence
is correct as it is, mark the answer as ‘No
error’. Ignore the errors of punctuation, if
any.

17. The fox enjoyed his role as (1)/ a king
and animals stronger then (2)/ him
served him by (3)/ hunting for his food
and obeying him. (4)

Al B. 2

C.3 D. 4

E. No Error

Direction: Read the sentence to find out
whether there is an error in it. The error,
if any, will be in one part of the sentence.
The number corresponding to that part
will be your answer. If the given sentence
is correct as it is, mark the answer as ‘No
error’. Ignore the errors of punctuation, if
any.
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18. They would piled up these (1)/
written postcards on (2)/ top of one
another and (3)/ store them in a box. (4)

Al B. 2
C.3 D. 4
E. No Error

Direction: Read the sentence to find out
whether there is an error in it. The error,
control (3)/ the behaviour of the people.
(4)

A1l B. 2

C.3 D. 4

E. No Error

Direction: In the question, one sentence
is given, and four words have been given
in bold denoted by (A), (B), (C) and (D).
You have to decide which of the following
is inappropriate in terms of either context
or spelling. If all the words are
appropriate in the context then mark ‘All
are correct’ as your answer.

20. This type (A) of flower generally (B)
grows on river bangs (C) and near
streams (D).

A A B.B

C.C D.D

E. All are correct

Direction: In the question, one sentence
is given, and four words have been given
in bold denoted by (A), (B), (C) and (D).
You have to decide which of the following
is inappropriate in terms of either context
or spelling. If all the words are
appropriate in the context then mark ‘All
are correct’ as your answer.

21. My father prefers (A)
photographing (B) nature rathar (C)
than people (D).

A A B.B

C.C D.D

E. All are correct

Direction: In the question, one sentence
is given, and four words have been given
in bold denoted by (A), (B), (C) and (D).
You have to decide which of the following

is inappropriate in terms of either context
or spelling. If all the words are

Elevate GA & Computer

A Score Booster Course

if any, will be in one part of the sentence.
The number corresponding to that part
will be your answer. If the given sentence
is correct as it is, mark the answer as ‘No
error’. Ignore the errors of punctuation, if
any.

19. One day, he decided (1)/ to sculpt a
statue of truth / which he believed would
appropriate in the context then mark ‘All
are correct’ as your answer.

22. She cheated (A) in the literature
(B) test by coping (C) from the boy
sitting besid (D) her.

A A B.B

C.C D.D

E. All are correct

Direction: In the question, one sentence
is given, and four words have been given
in bold denoted by (A), (B), (C) and (D).
You have to decide which of the following
is inappropriate in terms of either context
or spelling. If all the words are
appropriate in the context then mark ‘All
are correct’ as your answer.

23. The gready (A) man wanted the
method (B) to become (C) rich (D) in
the shortest possible time.

A A B.B

C.C D.D

E. All are correct

Direction: The following question carries
one statement with one blank. Choose
the most appropriate word from the
options to fill the blank.

24. The bees were always busy
honey and filling their

combs.

A. Resting B. Stretching
C. Extract D. Collecting
E. Nursing

Direction: The following question carries
one statement with one blank. Choose
the most appropriate word from the
options to fill the blank.
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25. The lion, who was the king of the
forest, was very with the
five wild dogs.

A. Greet B. Happy
C. Fierce D. Charm
E. Typical

Direction: The following question carries
one statement with one blank. Choose
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the most appropriate word from the
options to fill the blank.

26. One day, while the hunter was going
home, he met a
fisherman on the way.

A. Ahead B. Forward
C. Back D. Round
E. Down
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ANSWERS
1. Ans. A. 11. Ans. A.
IRT NAC TIF GOD WAL 12. Ans. E.
Among these, only GOD is meaningful. 13. Ans. B.
2. Ans. B. 14. Ans. C.

FTRI FCAN FFIT FDOG FLAW

Among these words only FLAW is
meaningful.

3. Ans. D.

CAN DOG FIT LAW TRI

LAW is the word which is second from the
right end.

4. Ans. A.

TRI CAN FIT DOG LAW

The third letter of the third word from the
left end is T and the third letter of the first
word from the right end is W. There are
two letters between them i.e. U and V.

5. Ans. A.

TRI CAN FIT DOG LAW

SRJ BAO DIU COH KAX

6. Ans. C.
743251
123456
7. Ans. B.
PLANTED - P QRS T -- Forward
PLANTED - LM N -- Forward
PLANTED - DE -- BACKWARD
8. Ans. C.

9. Ans. D.

10. Ans. C.

986
789
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Nest, Sent, Tens, Nets
15. Ans. C.

The correct answer is C.
16. Ans. D.

The correct answer is D.
17. Ans. B.

The correct answer is B.
18. Ans. A.

The correct answer is A.
19. Ans. E.

The correct answer is E.
20. Ans. C.

The correct answer is C.
21. Ans. C.

The correct answer is C.
22. Ans. C.

The correct answer is C.
23. Ans. A,

The correct answer is A.
24. Ans. D.

The correct answer is D.
25. Ans. B.

The correct answer is B.
26. Ans. C.

The correct answer is C
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